&Y —72 (1HH)
(1) KirFRLABISIUFA (A-BY—4)

@Zb’t)l_)b 1553\—253\—15%\
pRaaRR xR o — R B I
11 900 AR vs  E%E [0 =2 0
4 —0
2 | 935 #E Vs i 6 - —F O
3| 1010 | Pasion vs m#mEErE| 1 ? — g 0
4| 1045 TH VS Ramusqvyx| 0 3 — 2 7
00— 0
51 11:20 J\XK VS £ 0 - 3
1 — 0
3) 11:55 F3F VS i 1 ™. 1| sy £
3—0 g g
7| 1230 | Pasion vs TE |4 -—— 1 |&*HEH
8| 13.05 |E#ELRLE VS AtmusqvrX[ 0 g : ? 4
00— 0
9 | 1340 AR vs % 0 ——% ©
00— 0
10| 14:15 FF vs FE 0 ™. 1
11| 14:50 Pasion VS &#unsqvrX| 1 :) : : 2
1 — 1
12| 1525 |&#®%EsE vs  TH o= 3
Qxt#; K
AJOvY J\K I+ HE GiES e | B8 | &8 |[8&E| B
1 J\R 0 A 0l0 @ 3|/0 A 0 2 0 3 -3 3
2 EF |0 A 0 0o @ 1|1 A 1 2 1 2 -1 2
3] E |3 O o|l1 O o 6 O of 9 10 0 10 1
4 ¥ 0 A 0 A 1|10 @ 6 2 1 7 -6 4
BJOvY | Pasion |s#@£ErE| TFH |xewsocx] S | B85 | £5 |BEA] BT
1| Pasion 1 O ol4 O 111 @ 2 6 6 3 3 2
2|mmzerEl0 @ 1 1 @ 3/0 @ 4| o 1 8 -7 4
3] TH |1 @ 4|3 O 1 0o @ 7] 3 4 12 -8 3
4|zxmuserzlo O 1|4 O o|l7 O o 9 13 1 12 1




&Y —72 (1HH)
(2) XKirFHRLAEI>HFB (C-DY—5)

@Zb’t)l_)b 1553\—253\—15%\
PHAARER  f Bk W — R A B ke R | # K
S 4 — 0
1] 900 |UAT35>7 vs  Bifg 5 — O
2| 935 | WMAIE vs wmwr=—x| 4 —2 0
0 — 1
3| 1010 | RREWM vs HXyrE |0 ——F
4| 1045 | BEA vs B [0 —S— 5
. oy 0—0
o | 11:20 (UAU3>7 vs UHEE | 1 —o O
0 — 1
6| 1155 | BB vs mmuy/—=—X| 1 ——— 2| g xp
7| 1230 | ZBE# vs 8R4 3 2::) 1 | &BF-A5A
00— 0
8| 1305 | Ex~#E vs /H 0 — 0
0| 1340 |UAU50F vs mmwr—=—x| 4 ——2 0
— 0 — 2
10| 1415 bt vs  WHEE |0 S—F 7
0 — 1
11| 1450 | RER#M vs /ME |0 ——— 2
; 4 — 0
12| 1525 | EXyE vs B8 |4 —— O
O E
cyovy |Wro5oF|  Big WWHEE [sewr—=x BR | B8 | R [FEXR]| B
1|UAT50F 5 O o1 O o|l4 O of 9 10 0 10 1
2| BE [0 @ 5 0 @ 7|1 @ 2f O 1 14 -13 4
3| WHE [0 @ 1|7 O 0 4 O of 6 11 1 10 2
4|mmur—=—x/0 @ 4|2 O 1|0 @ 4 3 2 9 -7 3
DJOvY) | REHM | BEXyE | A ME | BR | §5 | £R [FEXR]| B
1| RRE 0 @ 1|13 O 1/10 @ 2f 3 3 4 -1 3
2| EExE |1 O 0 4 O olo A of 7 5 0 5 2
3] A (1 @ 3|0 @ 4 0 @ 5| O 1 12 -11 4
4] /A [2 O o|lo A o|5 O 0 7 7 0 7 1




HEN—F A N2H B)

2% 1 KEFRAES IV FA B e B 24 : WWEATE
> — — 3*2
VZA 7707 LER 2
1 0
2
2 I 1
0 2 w 0 A b 0
6 8
3 0 O P 1 2 0 2
1 ‘ © ‘ Qr‘ 4
Al D2 C1 B2 Bl C2 D1 A2
BE  HErykE V37707 Pasion amisryx [UAYE /N EF
| | I L | L |
® @
0 1 © 0 ? '; 0
0 | 3
0 T: 0
AT Va2V 155)-243-15%
PH AR [#] Xf e 1 — K AR e e | Cf
D| 900 | HE vs EErE [l
@)| 935 |UAH50F VS Pasion e
1 PK 0
@ 10:10 |A#wAssvoX VS LAt 1 ; 2
@)| 1045 | sE  vs EF | -
PK
®)| 1120 |§ mELE vs Pasion Pt ]
PK
®)| 1155 |2 wE vs varnr @l T2
OV g + 77T S BT 224
® e @ 0 — 0 B A
12:30 Awsavx VS N H
@ S L M s 1 PK 0
1305 2 wmiE vs ¥y G0 — 0O
T E = BTRTTTTRTT2
@ 13:40 ®E¥’TE vs /H @0 o 3
= A PK
1= |® po o @0 —
14:15 | Pasion VS Riqvsx g ; = -
)| 1450 |2 #HE vs E*% e — B
= A PK
| 1525 [Qutyse7 vs LmMIE [ —
PK




FxlL o Ph—FANM2H B)

2% 1 KEHEAREZ VKB B 2% : BIIG
ALY — = 3L J\K
1 0
2
1 | 0
0 1 w 3 2
6 8
8 0 9 0 1 7 2 1
] |—@ |7<r‘ g
A3 D4 C3 B4 B3 C4 D3 A4
I\AR BAYE emuwr—=—x EHMEE,-E TH BEMS REFEM (2
| | — L | —
© @
0 5 © 0 2
0 i’[g 0
0 I 5
AT Va2V 15)-243-15%)
P 4AFg i) X Bk 4 — K B e e | e H
)| 900 KR vs  BEA .
PK
@ 9:35 |@mwus—=——X VS EHEBsE J ; 0
@| 1010 | FE vs B 1 = !
@| 1045 | =EEM vs  #% 2 - ‘
®)| 1120 |2 mm  vs mwwers Pl T2
8 8 PK
e |D el 0 — 1
®)| 1155 | AK  vs mmur=—x g " EIERP:
@| 1230 |2 FB vs ® £ U - 2 | g A
PK
1305 |2 BB Vs HERM Gl
PK
. ® NN @ 0 - 0
13:4 H VS
Q)| 1340 |g B4 TH g
0o — 5
1415 |2 swwers vs AR 5 -
@] 1450 | Ak vs mrEm Ol 0
8 8 PK
)| 1525 |Qmmus=x vs BB 1 - L




